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)  (Direct Cost) 

 (Explicit 
Cost)  (Accounting Cost) 
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1.  (Fixed Cost) 

2.  (Variable Cost) 
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(Opportunity Cost) 
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2.1.2

 (form utility)  (place utility) 

 (time utility)  (services) 

 (Opportunity 

Cost)  (Externalities) 

 (Social Cost) 

(1)  (Financial analysis) 
 (2541) 

 (Cash flow) 
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1. (Net Present Value : 
NPV)

 (Discount rate) 

 (NPV) 
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2.  ( )  ( Internal Rate of Return : 
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 (i)  NPV  IRR  (r) 

 NPV  IRR  (r) 

 ( )  IRR  (r)  (i) 

 ( )  IRR  (r) 

 (Trial and error) 

(r)  NPV 

IRR (  r) 

 Bt =   t 

  Ct =   t 

  Co =  

  I =  

  T =   1, 2, 3….n 

  N =  

3.  (Benefit Cost ratio  B/C ratio )
 (B/C ratio) 
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B/C ratio =  PVb / PVc 

 B/C (ratio)  =

 PVb =  

PVc =  

Bt =   t 

Ct =   t 

Co =  

I =  

T =   1, 2, 3….n 

N =  

4.  (Payback Period) 

 ( )

  =  / 

5.  (Sensitivity 
Analysis)
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2.2

 (2549)

 1 

 3  5 

 3  5  5 

 8.5%   NPV = 962,400  IRR =11.50% B/C RATIO =1.20 
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 (2549) 

 WEEE&RoHS 

 WEEE&RoHS 

 A 

 1  WEEE&RoHS 

 67.88 71.78  5.75 

 WEEE&RoHS 

 10  6.50 

 (NPV)  225,023,235 

 (IRR)  134 

 1.76  5 

 4  1 

 20  10  2 

 30  10  3 

 30 15  4 

 30 20  1 

 3  4 

 (NPV) 

2,389,370  6 

 0.99 

 (2548) 

 43,946,740.04 

 29  1.02 

 2  2 
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 3  1 8

 1.35 

 10,797,906.50 

 8  1 

 5  5  2  8 

 1.35 

 10,204,625.56 

 8 

 1.00  5  8  3 

 8 

 1  0.35 

 10,358,439.19 

 8  1.00  5 

7

(2543)  2 

 (Opportunity Cost of Capital) 

 6  IRR  13.52% NPV 

13,663,162.59  B/C ratio  2.18 

 6  9  IRR  10.39% NPV 

8,867,455.83  B/C ratio  1.79 


